PRACTICE EXERCISES

Formulas: ZF=O ZF =0 ZF,=0
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1. F @ JF ., » and F ., are the weights of three objects suspended by pulleys, as illustrated. Assumiy t

the pulleys in this system are frictionless and wcightlcss and that magnitude of third weight
is F', =12 N, what are the magnitudes of /', and F' 7
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An object is suspended on a frictionless inclined plane by a rope parallel to the incline, as illustrated
above. If the angle of the incline is 25.0° and the tension on the rope is 5 000 N, what is the weightof
the object?
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Lesson 1—Practice Exercises

A 21(0'0 N cl;g;isgt;gl_/g (?‘:lt?) ﬁlaygrc:gn? kaing is being pushed by her father. When the swing rope
makes an a . he vertical, what is the fo , i
e ot emitond Histogie ' rce exerted by her father? What is the

\, Two ropes are a.ttached to a 75.0 N object as illustrated -abee. Find the magnitude of the tension
{\0(\0’ (F; and F 1, ) in the ropes.
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S. :1\ 15 kg objef:t rests on a table. A cord is attached to this object and also to a wall. Another object is
ung _from this cord as shown above. If the coefficient of friction between the 15 kg object and the
table is 0.27, what is the maximum mass that can be hung?
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EQUILIBRIUM—Practice Exercises

6. A 735 N mountain climber is rappelling down the face of a vertical cliff. If the rope makes gy ,
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of 12° with the vertical face, what is the magnitude of tension in the rope?

7. In the static arrangement shown above, find F,and F7,.
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8. In the static arrangement shown above, find F ¢ AndF a5

[P0~-36.5F = (,3_‘—130 5\/\ 245?: E
Ld A EF G F oy geny
6.7m o

; od
CASTLE ROCK RESEARCH 262\ Copy’l'igh‘ protec!



Lesson 1—Practice Exercises

plock is suspended b}’ a cord to a tree branch. In tum, a 12 N block is suspended from the " ’
) ARZ 1 shown in the diagram. What are the values of F_ and F__ 2 5
¢ block as L L2 - (A )
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1, A675 N object is pulled horizontally by a force of 410 N as shown in the diagram above.
What is the angle @between the rope and the vertical?

AR RR NN e

H(DM Fg=675N U./M/ﬁ wj_j_'

~ wo
l\,o\\f\% - sl

@ = %\960 /

=

Uy yri cC
ER P Copyright Protected
’ OcK RESEARCH }0‘! e




